What Did the Martian Say When
J< . He Accidentally Landed on Venus ? 2k

(T) 5x%+2x% - 3¢ 5xy?
(N) (5x)(2x3)(~3x2) () 1ex®
@ 4x° + x° + 4x @3x+2y
@ (4x3)(x?)(4x) @ 7x%y — 2xy?
@ —3x° + 5x2 - 3x° @ 4x?
(B (-3¢)(5x3)(=3x°) @9
®) 3x+2y @9
@ GxEy) ©®
® 7xy? — 2xy? @ —30x°
®
®

D@ (7xy?)(-2xy?)
@ 7x%y — 2xy?

(A) (7x%y)(—2xy?)

expressions cannot be simplified.) Write the letter of
the exercise in the box containing the number of

Find the simplest form for each expression in the
your answer.

corresponding answer column. (Some of the

(3a)(a%)(a%) + (2a%)(a")

(a*)(5a)(a?) + (~4a°)(2a°)(a) (@) 132°
(2a°)(a%)(3a?) + (8a°)(~a")(a) (2 -3a’
(5a%)(2ab) + (a®b)(3a) @ o
(2ab?)(—2a%b?) — (ab®)(6a2b) ~10a°p*
(—a2b)(ab?)(a%b?) + (a°b?)(—ab?) (3) s5a°
(4a°b?)(—3b°) — (2ab?)(—6ab®)
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OBJECTIVE 1-g: To add, subtract, or multiply monomials (review). © Creative Publications 5



